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Part-A/A9131—31
MENTAL ABILITY/ ar=f¥1a  A17adr1

Directions (Q. No. 1 to 3):
In each of the following questions, a set of figure carrying certain characters is given. Assuming
that the characters in each set follow a similar pattern, find the missing character in each question.

frder W&, 1 9 3)
T R T URe ae W RIS g W fAfeT sl &1 W & | g Hoddl divig b IE
e fodl Mf¥ad e | 9 J81 & S¥ &I & H XWd 8¢ 9P U B Gel §AT b A

PHIFSTY |
1.
4 7
5 1 64 3
11
(A) 0 (B) 8 (C) 125 (D) 216
2.
5 6 6 7 4 8
4 5 10
(A) 14 (B) 22 (© B2 (D) 320
3.
(A) 123 (B) 124 () 122 (D) 112
4. There are five different houses A to E in a row. A is to the right of B and E is to the left of C

and right of A. B is to the right of D. Which of the houses is in the middle?

(A) A (B) B ) © (D) D

Ut fafr~ @b A 9 E fodl U dfdd § €1 A, B S S 8 AR E, C & a1 a1 A &
SR €| B,D & T/ & | BI4T " Heg H 87

(A) A (B) B ) G (D) D
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5. In an examination Raj got more marks than Mukesh but not as many as Priya, Priya got more
marks than Gaurav and Kavita. Gaurav got less marks than Mukesh but his marks are not the
lowest in the group. Who is second in the descending order of marks?

(A) Priya (B) Kavita (C) Raj (D) Mukesh

frdl udlen & o1 A oy 9 SIET ofc Wi fHY WAfb gaw T8 Rraw B [, O 9 ke
3R HAAr I TG 3% W1 6 | TRT 5 Db A FH i T A Afh ST 3 |8
H wad HH S B | Dl DI gfte | g HH H TN TR B GER A TR AT |

(A) foam (B) wfaar € = (D) H&Hw

6. Looking at a portrait of man, Harsh said, “His mother is the wife of my father’s son. I have no

brother and sister”. At whose portrait was Harsh looking?

(A) His son (B) His Cousin

(C) His Uncle (D) His nephew

U Al & o @1 3R <9d §U BY 7 Hel “SHb! AT W U] B g B ufeT g1 W
P WIS A1 989 T8I 21 &Y frus a1 &k <@ T ar

(A) I9d YF B (B) S TR WIE Bl
(C) IH& Tl B (D) D Wilol B

7. By selling an article for T 110, a man loses 12%. For how much should he sell it to gain 8%?
(A) X120 (B) X125 () "X 135 (D) X140

el o @1 110 IH do W 12% DI B BIdl 8 | S I W 8% P AW o & g I
b= vud 4 d=m Se?
(A) T120 (B) X125 (€C) &35 (D) 140

8.  The price of an article has been reduced by 25%. In order to restore the original price, the new
price must be increased by how much percent?

(A) 12% (B) 33%% ©) 25% (D) 30%

frell ag &1 & 25% @€ ST B 1 39 T I ¥ fa gfawra @1 gig @ S g
g U1 8 9797

(A) 12% (B) 33%% (C) 25% (D) 30%
9. If EAT is written as 22 26 7, how will you write LIP?
(A) 151416 (B)y 141710 (€ 91211 (D) 151811
gfe EAT @1 22 26 7 foram S¢ dTLIP &1 &4 forem smem?
(A) 151416 (B) 141710 (C) 91211 (D) 151811
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10.

11.

12.

13.

14.

13.

16.

17.

Mohan is 4 times as old as Shyam. If the difference of their age is 9 years, how old is Mohan?
(A) 15 years (B) 12 years (C) 14 years (D) 9 years

Higd @] Y WM F IR AT 2 | Al AT B Y BT <R 9 9y g o e fbad ay &1
27

(A) 15 T9 (B) 12 ¥ (C) 14 99 (D) 9dy

Directions (Q. No. 11 to 15):

Identify the logic between first two terms of left side portion of sign :: in following questions
and apply same logic on Right side portion of sign :: and find correct alternatives for each
question.

fader (0. 9. 11 9 15) -

) R T Tt ¥ B () 3 T =G I UT B W 99 B TEahE 9 oF s
e H g (2) & < OR% drel S YRl WR oF] &R GG U9 & forg 921 fawe &1 a9
B |

ACE : ZXY :: FH] :

(A) SOQ (B) USP (C) TRP (D) USQ
BYW :DWU :: FUS :

(A) HSQ (B) EST I GST (D) ESQ
MORE : NNSD :: CRAW :

(A) DQAV (B) DAPQ (C) DQBV (D) GQAL
MONKEY : XDJMNL :: TIGER :

(A) QDFHS (B) SDFHS (C) SHFDQ (D) UIJHFS

CIGARETTE : GICERAETT :: DIRECTION :
(A) RIDTCENOI (B) NORTECDII (C) NOIETCRID (D) IRDCTIONE

If air is called green, green is called blue, blue is called sky, sky is called yellow, yellow is
called water and water is called pink, then what is the colour of clear sky?

(A) Blue (B) Sky (C) Yellow (D) Water

I BAT BT B, B DI Alel], AT DI AR, BT BT U, YT BT U1, GHT DI TeTa!
GHET ST AT Gl /AT STTHIRT HT I a7 BATT?

(A) frett (B) 3T (C) et (D) Ul

In a certain code ‘786" means ‘study very hard’, ‘958’ means ‘hard work pays’ and ‘645’
means ‘study and work’. Which is the code for ‘very’?

(A) 8 (B) 6 © 7 (D) 4

fre A= e # ‘786" @ TSl dXI BIS' '958° B Ble dd Uul 3R ‘645" P ‘TSl VTS
g’ Hal Sy dl N & foy g1 wrs gemre

(A) 8 (B) 6 Wy 7 (D) 4
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18.

19.

20.

21.

22.
23.

25.
26.

27.

If 15 January 2004 was a Sunday then what was the day of 15 January 2003 -

(A) Monday (B) Saturday (C) Friday (D) Tuesday
JfE 15 STERI 2004 BT IAAIR 2T Al 15 SN 2003 Bl FT IR BFIT?
(A) AHIR (B) wfar (C) YehaR (D) HTAR

Directions (Q. No. 19 - 21):

In the following questions, three of the four are alike and so form a group, which is the one
that does not belong to that group?

Arder : @M. 19 — 21):

feifea weal # 9 3 9 IR e O € iR gIfely Udh g 991 € | DNl § Sl g
1 Tl 87

(A) Parrot (B) Koel (C) Vulture (D) Swan

(A) drar (B) ®Ia C) frg (D) &4

(A) Haryana (B) Gujarat (C) Kerala (D) Maharashtra
(A) =R (B) ToIRIG (C) & (D) HERT
(A) Potato (B) Coriander (C) Ginger (D) Onion

(A) 3T (B) afear (C) 3ExD (D) ©IT

Directions (Q. No. 22 - 25):

In the following questions, choose the odd numeral pair.
fader - (w4, 22 — 25):

=i wedl o, ol & favg g™ & fRiffed #ifeg |

(A) 140-45 (B) 110-35 (C) 100-30 (D) 80-25
(A) 133-98 (B) 150-115 (C) 182-40 (D) 188-153
(A) 12:96 (B) 13:117 (C) 15:120 (D) 16:128
(A) 15-46 (B) 12-37 (C) 9-28 (D) 8-33
College is related to student in the same way as Hospital is related to............ ?
(A) Doctor (B) Nurse (C) Treatment (D) Patient
HeTfdenera &1 faenefl & a1 € ddy & o oruard & .. B2

(A) SfdeR (B) =™ (C) s (D) RrEf
Signal : Traffic :: 7 : ?

(A) Dam : River (B) Lens: Light

(C) Door: House (D) Operation : Doctor

Rrrer : Sfhp = 2 0 ?

(A) dfe: 7 (B) oW : HapTI

(C) GRS : Hb (D) 3ifoRE : Sfder
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28.

29.

30.

31.

32.

33,

34.

35.

36.

MxN:13x14::FxR:?

(A) 7x19 (B) 5%x17 (C) 14%15 (D) 5x18
BUCKET : ACTVBDILDFSU : : BONUS : ?

(A) ACMNMOTVRT (B) SUNOB

(C) ACNPMOTVRT (D) ACMNMOTURT

If in a certain language A is coded as 1, B is coded as 2 and so on, how is BIDDIC coded?
(A) 294493 (B) 284563 (C) 375582 (D) 394492
i fl wTr § A @1 Fc 1 8, B &I g 2 & 3R T+ T & &, 1 BIDDIC & ¢

g7 BIT?

(A) 294493 (B) 284563 (C) 375582 (D) 394492

If A is to the south of B and C is to the east of B, in which direction is A with respect to C?
(A) North—East (B) North—West (C) South-East (D) South— West

AT ABDHIRMIAZTIRC,B I gd H g dl A,C & day # fa fem # 22

(A) STR—7d (B) STR—uRT™ (C) Tf@o—gd (D) <fEo—uftsm

One evening before sunset two friends Rakesh and Rahim were talking to each other face to
face. If Rahim’s shadow was exactly to his right side, which direction was Rakesh facing?

(A) North (B) South (C) West (D) Data inadequate

U WM BT ARG H Ul QI QIR B 3R &M F—AF U T ¥ a1 IR @ o |
I IBH P! IRBTS UHeH SHD aleq 3R ) a1 by 5w ffem & 9= o

(A) TR (B) =féror (C) uf¥=m (D) I AT
5,710,135, 229 . @.... £

(A) 31 (B) 32 (C) 34 (D) 35

703, 655, 607, 559, 511,463, ...........

(A) 413 (B) 414 (C) 415 (D) 416

A father is, at present, three times as old as his son. Five years back, he was four times as old
as his son. Find the age of his son -

(A) 12 years (B) 15 years (C) 18 years (D) 20 years

U fOT, acArE |, (9 Y W I O §s | Ul a4 gd 9 U g W AR O 93 o |
T @I 3G T 87

(A) 12 99 (B) 15 (C) 18 9y (D) 20 a9
If5x9=144;7x8=151;4%x6=102,then2X5=.......... ?

(A) 77 (B) 97 (C) 107 (D) 73
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37.

38.

39.

40.

Directions (Q. No. 37 - 40):

The figure given below consists of three intersecting circles which represent sets of students
who play Tennis, Badminton and Volley Ball. Each region in the figure is represented by a
small letter. On the basis of the figure, answer the questions given below.

P Q
T](Eg%{;)— "GA BADMINTION
VOLLEY BALL
e

frder : W, 37 — 40) :

FUR 1 T8 Arpfa H A9 srafdureie g €, O fdenfi & gl @1 s eRar @ o
<, Seffed iR dielldldl Weld & | @i H AT U g & &I U BieT AR qard]
2| MBI @ MR W A Y 10 yei & ST QY |

Which letter represents the set of students who play all the three games?

(A) b (B) ¢ © f D) g
DT e fenfal © 99 ¥gg &1 <idr & S 9 Yol Word 87
(A) b (B) ¢ (€) f D) g

Which letter represents the set of students who play Tennis and VolleyBall but not
Badminton?

(A) g (B) e €) ¢ (D) b

DITAT e faenfidl & 99 g PI qUIdT & Gl ¥ AR dfelldiel Weld & WR defimed
BEIK

(A) g B) e © ¢ (D) b

Which letter represents the set of students who play Tennis but neither Badminton nor Volley
Ball?

(A) a (B) b ©) ¢ (D) d

DT e fFenfdal & S wug ! quiar & S <MY Wold € W A1 df defired ek A
gl dfefldicl ?

(A) a (B) b (C) © (D) d

Which letter represents the set of students who play Tennis and Badminton but not Volley
Ball?

(A) b B) c (C) d (D) f

DT AR faenfial & 89 wg &I quidr g o <Y iR defied Wed g w dfeldid
TEI?

(A) b (B) ¢ (C) d (D) f
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41.

42.

43.

45.

46.

Directions (Q. No. 41 - 43):

In a school, there were five teachers. A and B were teaching Hindi and English. C and B were
teaching English and Geography. D and A were teaching Mathematics and Hindi. E and B
were teaching History and French.

fder - (w4, 41 — 43) :

% faeery # ufa R 9| A iR B &= iR 3iUsi uel W8 | C 3R B 3RS iR Wt
Ugl %8 A | D 3R A WO &R f&d) uer v 2| E3iR B gfderd iR % Ul = o |

Who among the teachers were teaching maximum number of subjects?

(A) A (B) B (C€) C (D) D

Rl # 9 e faw o ugr @ 97

(A) A (B) B € C (D) D

Which of the following pairs was teaching both Geography and Hindi?

(A) Aand B (B) BandC (C) Cand A (D) None of these

71 & @ e SR R ] ueT < 97
(A) A3RB (B) B3R C (C) C 3R A (D) 99 9 P T8l

More than two teachers were teaching which subject?

(A) History (B) Hindi (C) French (D) Geography
g1 A 3yfSrp et wi=ar vy ugr w8 97
(A) sfoera (B) fe&< (C) wd (D) et

Directions (Q. No. 44 - 45):

Arrange the given words in a meaningful sequence and identify the most appropriate sequence
from amongst the alternatives.

fader - (M. 44 — 45) -

fay 7Y vt P U eiyvi HH H SHEd SR Ry U fAFei § ¥ walfdd Sugad wH @l
fafgd S|

(i)  Appendix (i1) Contents (ii1) Title

(iv) Chapters (v) Introduction

(A) i, ii, v,i,1v - (B) i, i, iv,v,i (C) v, i, v, il i (D) i, i, v, 1v, 1

(i) uRRre (i) ~ STIEHHTOTERT (i) efi=

(iv) ey (v) uR=g

(A) iii,ii, v,i,iv. (B) 1,1i,1v,v,i 0 (C) v, i, iv,ii, il (D) iii, ii, v, iv, 1

(1)  Punishment (i1)  Prison (111)  Arrest

(iv) Crime (v) Judgement

(A) v,i,ii,iii,iv (B) v, iil, v, ii, i (C) iv,iii,v,i,ii (D) ii,iii, i, iv, Vv
(i) el (i) g (iii) RER

(iv) IR (v) faoig

(A) v,i,ii, 11, iv (B) 1v, i, v, ii, 1 (C) iv,iil, v,i, it (D) ii,iii, 1, 1v, v
How many times in a day, the two hands of a clock are at 90°?

(A) 4 B) 12 (C) 22 (D) 44

U 37 # fha= IR, BT & &7 812F 90° WR B &

(A) 4 (B) 12 ) 22 (D) 44
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47.

48.

49.

50.

Directions (Q. No. 47 - 50):

In each of the following questions, two statements 1 and 2 are followed by two conclusions 1
and 2. Read the conclusions and then decide which of the given conclusions logically follows
from the two given statements.

(A) If only Conclusion 1 follows (B) If only Conclusion 2 follows

(C) If either Conclusion 1 or 2 follows (D) If neither Conclusion 1 or 2 follows

forder - M. 47 — 50) :

= fRr U ue UT H BUH 1 SR 2 @ drg ey 1 &k 2 €| el a1 ufeu sik
fofg eifSTe & oFx ey Ry 17 g1 $l @ R W d&aTd & |

(A) R daat fFrpd 1 w1 2 (B) I daat frspd 2 921 2
(C)aﬁﬁr&ﬁMmzm"r%‘ (D) 3l fr=pd 1 &R 2 ST TTeT ©
Statements : All fans are watches.
Some watches are black.
Conclusions: All watches are fans.
Some fans are black.
BY H$AT Brefl ¢ |
ey aft afedf v €|
HY U B T |
Statements : All grasses are trees.
No tree is shrub.
Conclusions: No grasses are shrubs.
Some shrubs are grasses.
B RS IIRSIRS] g8 =
HIE qeT ST TRl B |
ferepe I3 ° ST el € |
o wfsal =9 2|
Statements : Some boys are thieves.

Some students are boys.
Some boys are dacoits.
All dacoits are boys.

Conclusions:

Sl el el il e iy kel Ml el ol Rl Ll o sl o

B : B AP AR B |
5B e faemedi ¥
ot BY TG ASD @ |
a4l STd, ASD B |
Statements : No man is a donkey.
Rahul is a man.
Conclusions: Rahul is not a donkey.
All men are not Rahul.
HA B1g Al smeHl e TE B |
RIgS JATEH B |
sy RTgel TET T8 B |
|1 e I8 T8l B |
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51.

52.

53.

54.

35.

56.

57.

58.

Part-B/919T—4
GENERAL AWARENESS RAJASTHAN/HTHTY ST ISIEATA

‘Hela Khayal Dangal’ is famous in which district of Rajasthan?

(A) Dausa (B) Jaipur (C) Bikaner (D) Pali

2ol W &ial’ IoR & b e # uRig 87

(A) < (B) SRR (C) dNF™R (D) dreft
‘Pichwai’ art is related to-

(A) Meera bai (B) Ram-Sita (C) Mahadev (D) Shree krishna

fUods’ ol TS 8—
(A) IRETE | (B) IWM—lar ¥ (C) HeGd 9 (D) =i |

According to 2011 census the lowest density districts in Rajasthan are-

(A) Barmer - Bikaner (B) Jaisalmer - Barmer

(C) Jaisalmer - Bikaner (D) Jaisalmer - Churu

2011 I STTUET & ATAR TR H =IAH b=Tcd dTel folel 58—

(A) TR — qHFR (B) SRR — ISR

(C) SR — IR (D) SIHR — TH

The first wind power plant of Rajasthan was established in-

(A) Amarsagar - Jaisalmer (B) Bithadi - Jodhpur

(C) Devgarh - Pratapgarh (D) Mohangarh - Jaisalmer
RTSTRRATE &1 U2 g SHoll 933 I fbar a7 or—

(A) SFRETR — SR (B) @Sl — SIEgR

(C) TG — YIS (D) HIEATE — SIHTHR

‘Bari’ ornament is worn in-

(A) Neck (B) Nose (C) Ears (D)  Wrist
IR’ AT U&AT STl B—

(A) ol H (B) & H (C) &l H (D) @are H
Where did the reign of Maharana Pratap take place?

(A) Chawand (B) Gogunda (C) Udaipur (D) kumbhalgarh
HERIVT YT &1 RISTfcield Hal gall oAT?

(A) =mds (B) TIR[=T (C) JETR (D) BTG

Name the person who was expelled by Ratan Singh from his court and later he went on
asylum to Alauddin khilji-

(A) Sunder lal (B) Madan lal (C) Raghuji (D) Chetan Raghav

9 AfFT BT A dasd o9 IqERIE T U SRaR | Fdbre fRar on, 9o 915 § a8

JTATSE RIeToll BT IR | Tl 7 |

(A) =X cffel (B) HaAAT (C) gSi (D) ad IHd
‘Bhomat’ area in Rajasthan is related with-
(A) Udaipur (B) Banswara (C) Bhilwara (D) Alwar

RIS | HIHe’ &F Jwfed &—
(A) SR ¥ (B) d9ivarsT | (C) Hifarer 4 (D) AR |
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59.

60.

61.

62.

63.

65.

What was the name of first Rajasthani film?

(A) Nijarano (B) Babasa Ri Ladli

(C) Bai Chali Sasariye (D) Mhari Pyari Chanana
YoIH IR fhed &1 A a1 417

(A) froRmE! (B) SrETAT ¥ SATSTl

(C) 918 dil ARy D) =R AR I

Who took oath as Chief Minister of Rajasthan maximum number of times?
(A) Mohanlal Sukhadia and Haridev Joshi

(B) Haridev Joshi and Bhairon Singh Shekhawat

(C) Bhairon Singh Shekhawat and Hira Lal Devpura

(D) Shivcharan Mathur and Haridev Joshi

RIGR & PRIHAl & w9 H |aifdd gR uey fbae ofi?

(A) Hie=Tdlrel gaisar vg gRag el

(B) &R<ag <efl va HRif¥e Iramad

(C) WIf¥E I@rEad vd BRIl QayR

(D) Rrgeror 7R vd gRag e

Degana region is known for which mineral in Rajasthan?

(A) Manganese (B) Coal (C) Tungsten (D) Iron ore
ST &3 Yo H fw @fre & fog s omar 27

(A) TN (B) ®I¥al  (C) cU¥A (D) dllg 3P
Who is known as ‘Gandhi of Rajasthan’?

(A) Bhogi Lal Pandya (B) Gokul Bhai Bhatt

(C) Janki Lal (D) Damodar Vyas
SR & e’ & w9 § B S Srar 272

(A) 4rfl drer gusan (B) el HIg 4E

(C) @I T (D) <TTHIER ™

Where is the only bird hospital of Rajasthan?

(A) Jaipur (B) Ajmer (C) Kota (D) Jodhpur
RIS BT ThaTa Tl fifecaray wef 27

(A) SR (B) MR (C) ieT (D) SIEYR

What is ‘Lag — bag’?

(A) Name of bird (B) Tax levied on farmers

(C) Name of cannon (D) Name of elephant of Man Singh
AN — dET &7 57

(A) fafsar &1 W (B) fpami wR mRIfag &=

(C) o9 &1 A (D) WFARE & BRI &1 79
Rajasthan in its present shape came into the year-

(A) 1956 (B) 1957 (C) 1958 (D) 1959
RIS 39 IAH WHY H T & du—

(A) 1956 (B) 1957 (C) 1958 (D) 1959
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66.

67.

68.

69.

70.

71.

72.

73.

Word ‘Rajasthan’ was first used by historian known as-

(A) Tod (B) G.N Sharma (C) G.C.Pande (D) Satish Chandra
Y NGRA’ Bl Ugell aR YA, = sfagraer grr fdar mar—

(A) <fs (B) Sfigd. wmHf (C) i ¥l U (D) Ay =
Kali banga, an old historical site is located in the following district of Rajasthan :
(A) Bikaner (B) Ganganagar (C) Barmer (D) Jodhpur
BIAE, Sl U U W &, 98 ORI & b e 7 Rerd 8-

(A) dHTR (B) TR (C) TSR (D) SR
The copper culture signs are available in the district of-

(A) Udaipur (B) Kota (C) Bundi (D) Alwar

T Swpfa & g fea e § Sucer a—

(A) SR (B) ®IeT (C) =1 (D) 3R

The seervi, caste is in agriculture, they are found mostly in the district of-

(A) Kota (B) Jaipur (C) Jodhpur (D) Bharatpur
R iy &t 9 S 2, 3 et fea Rl § g o 8-

(A) Pier (B) SR (C) SEYR (D) WRAYR

Sisodias of Mewar were regarded as-
(A) Suryavanshi (B) Chandravanshi (C) Agnivanshi (D) Nagvanshi

Hars & Rraifeamsi &1 =1 71 Srar 8—

(A) pash (B) =gash (C) aiffsash (D) ArTash

The first formal grammar of Rajasthani was written by the following -

(A) Jayasimha Siddharaja (B) Udyotan Suri

(C) Bhoja (D) Hemachandra Suri

RISRRITHT B1 Ugedl /U Arehrvl fordl T8, 7 & gRI—

(A) I w1 RigRron (B) eI G

(C) ot (D) BHE=

Who among the following is a famous singer of the Jaipur Gharana of Music?

(A) Bhim sen Joshi (B) Jasraj (C) GirijaDevi (D) Malikarjun Mansur
G & SAYR BRI b ARIg FTDR B S S 28—

(A) W SiEl (B) SRS (C) RS &1 (D) Al A=K
Phad paintings of Rajasthan belong to the following school of paintings-

(A) Jaipur (B) Kota (C) Mewar (D) Bikaner
ORI 3 B8 REGRI, fEea @ 59 a9 3! o—

(A) SR (B) I (©) #ar$ (D) dPrR

NKP-2018 (Series-A) Page 12 of 32



74. The Kalbeliya dance is from which district of Rajasthan -

(A) Jodhpur (B) Udaipur (C) Alwar (D) Jaisalmer

BT G o & fa el 9 8-

(A) SIRIYR (B) SR (C) 3feTaR (D) SRR
75. Bagaru print is from the following part of Rajasthan -

(A) Jaipur (B) Bharatpur (C) Jhalawar (D) Nagaur

TTE B BUR IR & fha B | 8-

(A) STIER (B) #RAQR (C) HATelldTe (D) HFIR
76. Bala Qila is located at-

(A) Jalore (B) Sawai Madhopur (C) Alwar (D) Baran

qrer vt wel Rera g8—

(A) SR (B) WA HRIR  (C) (TR (D) d9NT
77. Who is the longest serving Chief Minister of Rajasthan -

(A) Tika Ram Paliwal (B) Vasundhara Raje

(C) Ashok Gehlot (D) Mohanlal Sukhadia

RISTRIA H Fa¥ o 999 a0 e J@ma ue W S fhar 2—

(A) SIBRM UTeiidre] (B) OGERT TS

(C) 3reF TEAd (D) ST g
78. Daulat Ram Saran was addressed in Rajasthan as-

(A) Mahatma (B) Kisano ka Messiah (C) Babuji (D) Raja

SleTd I ARYT DI o H AHEIfed fRar SIdr o U8 dEdhi—

(A) HETHT (B) fhdmi @1 #dleT  (C) Fg S (D) RISl

79. Rajasthan Vikas Party was established by-

(A) Brij Mohan Lal Sharma (B) Buta Singh (C) Heera Lal Shastri (D) Chhotu Ram

el fadra aidt @ wiEr &1 ofi-

(A) gorHEd dred 3l B) 9 fHe  (C) 8N o Il (D) BicI™
80. Who is the speaker of 14" Vidhan Sabha in Rajasthan -

(A) Sumitra Singh (B) Ram Niwas Mirdha

(C) Kailash Meghwal (D) Shanti Lal Chaplot

1441 TR O 9T & |MTafT B 27

(A) gfrar Rz (B) M fara fagt (C) derrer #gared (D) ¥nfdellel Ivalrd

81. How many periods of rainfall are there in Rajasthan?

(A) 2 B) 1 €) 3 (D) 4
oI H auf &1 99T fahae 9R BreT 87
(A) 2 (B) 1 (C) 3 (D) 4
82. Indira Gandhi canal was necessitated by-
(A) Rains (B) Winter (C) Water Scarcity (D) Hot summers
Sfe=T ATl R @Y eIl gg—
(A) s¥91q ¥ (B) Wl ¥ (C) Ul @ 3Md 9 (D) I TH |
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83.

84.

85.

86.

87.

88.

89.

90.

91.

River Luni originates from the following district -

(A) Nagaur (B) Ajmer (C) Tonk (D) Churu

ST 4 BT SeH @I, e el # 8-

(A) MR (B) 3SR (C) <id (D) T

Famous Chand Baori is located in the district of-

(A) Kota (B) Bharatpur (C) Alwar (D) Dausa

g dfe 9! Rerd 8, =1 et #

(A) Pier (B) WRAYR (C) 37efeR (D) =

Which city in Rajasthan is called ‘Blue City’?

(A) Udaipur (B) Ajmer (C) Jodhpur (D) Bikaner
ORI H fh wER B el e}’ el oal 87

(A) JTIR (B) 3R (C) SR (D) dBER

Garden Bada Bagh is situated at-

(A) Jaisalmer (B) Bhilwara (C) Jhalawar (D) Hanumangarh
e 9T 91T Rerg 8-

(A) SR (B) Hiefarst (C) sITerars (D) EFATG

Vijay Singh Pathik, a freedom fighter of Rajasthan, published a newspaper, known as-
(A) Rajasthan Kesri (B) Navin Rajasthan (C) Prabhat (D) Rajasthan Patrika

faorg Rig ufdre, Y= & a—=dr 991, Seid Uh GHER U9 S, Sff 59 9™ |
ST ST -

(A) ISR BRI (B) 7419 IoiRei= (C) 9HTd (D)  XTSTRIT Uf3epr
Habib Tanvir’s Film Charan Das Chor was written by which Rajasthan writer.

(A) Malchand Tiwari (B) Harish Bhadani

(C) Vijay Dan Detha (D) Arjun Deo Charan

gdld AR @I fhed TRAGN IR oA & b oidd g7 fordl T8?

(A) ¥rerde foamr (B) B9 WG

(C) fasrg & Qen (D) SIS <& TR

Who among the following was awarded Padma Vibhushan from Rajasthan?

(A) Komal Kothari (B) Vijay Shankar Vyas

(C) Natwar Singh (D) Naresh Chandra

R H et d 9 6 ugH favmor | i fbar T —

(A) BIFEA BRI (B) faora siex <

(C) TeR Ri (D) Y T=

Kamlesh Nagar Koti played for India Under 19 Cricket World Cup in the year -
(A) 2016 (B) 2015 (C) 2018 (D) 2014

HHAY AR HIfc RA 3SR 19 & fvg &9 # Wan 8, 771 a9 7 —

(A) 2016 (B) 2015 (C) 2018 (D) 2014

In Arid Desert of Rajasthan, India shares international borders with -

(A) Nepal (B) China (C) Pakistan (D) Afghanistan
RIS & Y[&F AR H WRA 371 RIS WA A181 &l &, 7+ & |1l —
(A) =ure (B) =+ (C) TR (D) BT
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92. North Aravalli Region of Rajasthan include the following district -

(A) Dausa (B) Sirohi (C) Ajmer (D) Tonk
SR 3RTTeA! &5 H R &7 = e aftafera g —
(A) BT (B) R=r@r (C) 3R (D) <idb

93. Panchayati Raj system in India was inaugurated in Rajasthan at Nagaur in the year —
(A) 1958 (B) 1959 (C) 1957 (D) 1956
AT ISTaReN &1 3R™ 9RA H, AR & AFR 9 fhd v # gar?
(A) 1958 (B) 1959 (C) 1957 (D) 1956

94. Traditional leader of Meena community is known as -
(A) Patel (B) Bhagat (C) Karma (D) Mukaddam
AT WHETT $T URFRETT AT 39 A9 A ST SOffal & —
(A) Tcd (B) T (C) oA (D)

95. National High Way 8, which connects Delhi with Mumbai, passes through Rajasthan. It runs
into how many kilometres in Rajasthan?
(A) 700 (B) 560 (C) 688 (D) 720
IS AET AT 8 Sl fAcell @ g W el & o W oRdl 8| I8 ol H
= far Hiex &1 27

(A) 700 (B) 560 (C) 688 (D) 720
96. Central University was established in Rajasthan in year —
(A) 2007 (B) 2008 (C) 2009 (D) 2011
RIS H b1 faeq fdenre™ @) e g8 av —
(A) 2007 (B) 2008 (C) 2009 (D) 2011
97. Sahitya Academy, Delhi award for Rajasthani in 2017, was awarded to -
(A) B.L.Vyas (B) Ambika Datt (C) Hetu (D) Neeraj Dalia
qy 2017 BT A2 bIaH], facell BT ISR BT GREBR b1 fiyem —
(A) 91 Uel. &g (B) Sifddr (C) ®q (D) RS Siferr
98. Banasthali Vidyapeeth was established in the following year —
(A) 1934 (B) 1935 (C) 1936 (D) 1937
geverel faemdie &) venusn e 9 § g8 —
(A) 1934 (B) 1935 (C) 1936 (D) 1937
99. Who was the first Woman Chair Person of Rajasthan Human rights commission?
(A) Kanta Kumari Bhatnagar (B) Prabha Thakur
(C) Narendra Kanwar (D) Usha Meena
TSR AFAEGR SR & Ugell AfRer ege die off?
(A) I HARI HSATR (B) 9T STaR
(C) & Har (D) ST HoM
100. The first Woman Chief Secretary of Rajasthan was -
(A) Meenakshi Hooja (B) Kaushal Singh
(C) Otima Bordia (D) Amarjeet Kaur
RIS 61 g Higell g e off —
(A) ¥l g (B) et Rig
(C) ey arfda (D) 3IHRSIT DR
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101.

102.

103.

104.

105.

Part-C/911—4
Teaching Aptitude / 111 3if¥erwan

For a teacher to make a place in society -

(A) Must stay in political party.

(B) Must fulfill his obligation.

(C) Keeping one self active in the activities of society.
(D) Accumulating more money for becoming influential.

1T B FAS H R 99 D ol —

(A) T somfae ardt & vger =@ty |

(B) 30+ T &1 R anfed |

(C) HHTST &) wfafaferal & s o1 by waem =nfad |

(D) 31f® A I &9 FIg PP U Y9 BT Gl Al |

As a teacher, you would like to devote your evening time to what work?
(A) In discussing politics (B) In entertainment work

(C) In other activities to earn money (D) In social work

& IEATIdH & w9 H AT (U A & GAd [5d Sl § 1 g6 dedl?
(A) oI @1 F=t B o (B) ®ARSH &1l |

(C) o9 uIiftq & 3= &l H (D) \™ISTS HrEl |

A successful teacher is one who -

(A) Gives good marks (B) Checks homework regularly

(C) Keeps strict discipline (D) Remains aware about the progress of students
|ahd Riers a8 8, o —

(A) 3B 3 <l & | (B) frafia eard <w@ar 7|

(C) HOR I &l 2| (D) ®BET & W & 9fd Fo T &dT 2 |

Which of the following criteria would you follow when punishing students -

(A) frequency and seriousness of offence.

(B) equal punishment for all without discrimination.

(C) only the seriousness of offender.

(D) only the frequency of offence.

MU BT $I U od 9HI 7+ H ¥ {69 AUGUS &7 Ureld deil?

(A) STORTY P 3MIf Td THRET

(B) fa=m f&dr wewra & @l &1 9w qve

(C) dadt SRR &Y THRar

(D) @Il AURTE BT IMHT

If a student regularly comes late in school then you will -

(A) Complain to his parents (B) Find out the reasons

(C) Remove student from school (D) Punish the student in front of all students
Ifg Ud BE AR faeney | faeid & amar €, o —

(A) S Afvas ¥ Rremd 911 (B) 99 SRV &I gal S |

(C) T & femes | Mera < | (D) ¥4 BIA & AMT I afvsd B |
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106. When would you like to take additional responsibility as a teacher?

(A) For new knowledge (B) For praise
(C) For promotion (D) For Co-operation
et @ ®U # 3 w9 SrfaRad SaRaR¥a o= Arer?
(A) R FE B ford (B) Uzl & ford
(C) usEfd & ford (D) HEar & ford
107. The best way to create awareness is through-
(A) Family (B) Society
(C) Books (D) Companion
ISTTAT UT ®RA & ford Faay are ® —
(A) TRar (B) AT
(C) Jx® (D) &l Arf
L] -, P— helps to increase the general knowledge of the teacher -
(A) Students (B) Fellow teacher
(C) Newpaper-Magazines (D) Family members
IS BT AHI—SF e § Jed & —
(A) BF (B) il 3reaudh
(C) UF—uf3HTY (D) YRAR W+

109. Main objective of education is -
(A) Development of language skills (B) Development of Social Citizenship

(C) Give punishment (D) Personality development
f1eT &1 T UHE IR ® —
(A) 9T9T I BT fAHT (B) \mIfSted ANTRSGr &1 fdar
(C) TUS &1 (D) wfddw faemm™
110. Successful leadership is -
(A) Democratic (B) Monarchic
(C) Group based (D) Dictatorship
el Aqed Bl & —
(A) YSITdid (B) RIoIdifad
(C) wHqg SMERd (D) ARl

111. Teachers in the teaching profession do tuition because -
(A) Students force them to do this.
(B) Their greed for wealth has increased.
(C) Their Salary is low.
(D) With growth in their knowledge they want to disseminate it.
AT FIH H R1eTd IR dRd 7, Fifd —
(A) BT S8 UG B & ford a1ed aed 2|
(B) SH®! T—ATUdT 9 TE T |
(C) BAHT Ia9 HH 2 |
(D) W & o9 ¥ AMgfg 89 9 9 0 S &7 TR ST 918 2 |
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112.

113.

114.

115.

116.

117

The education given to the students by the teacher should be :-

(A) Professional education (B) Scientific education
(C) Related with Culture and spiritual (D) All above

et gRT BEAl DI & S arenl e = 3 Gdfed g8 ey —
(A) T3 awfye & (B) dsfa &

(C) HRPiA Td AT ¥ Hafed & (D) Sudad

Depends on the teacher’s awareness -

(A) Teacher’s knowledge (B) Teacher’s financial Status
(C) Teacher’s popularity (D) Teacher’s Resourcefulness
SedYdh El% O dhdl U F‘"T‘i? DXl % i

(A) IEAUH BT S (B) 3regmgsd & e Rerf
(C) ISP &I =Tl (D) JFEAYH DI FHIAYOI]

If there is a political debate, then you -

(A) will actively participate (B) will enjoy

(C) will be one sided (D) will not pay attention
Ife wEl SIfdd 989 8 I8! =, al 3T —

(A) Sfsha 9TT ol (B) g off

(C) felt Ue uer &Y 3R B (D) g T8f <

All round development of students can be done -

(A) By providing education facilities

(B) Through realisation of Social Responsibility

(C) By considering the interest of students themselves

(D) By giving them money

BTAT &1 |aiir e far S dddar € —

(A) fRreror gfaem qax (B) A™Ifoid SIficd &1 dl HxId
(C) ©HEl 4 W & 8 & &1 @R (D) SFHT g7 o

The leader of the group can only give successful leadership when he will :-

(A) Be patient (B) Be disciplined
(C) Be serious (D) Berich

TE B AdT T A6 g < Ghdl 8, ofd 98 —

(A) wETela & (B) STIIIT &
(C) TR & (D) & &
Complex and difficult subject matter should be taught -

(A) According to students (B) In Sections
(C) Afterwards (D) In between
SIfeet oI Hicw favawq o1 Rieor &R @red —

(A) ®BHEl & FAR (B) @vei H

(C) 49 ¥ (D) dF—dra
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118.

119.

120.

121.

122.

123.

124.

The best way of studying evils in the nearby society is by-

(A) Contact with students (B) Contact with parents

(C) Social survey ('D) Book study

e 9IS # AT qRTSTT DI JETI HR= BT AT AT & —

(A) BHE 9 FUH (B) SIfHa®di | HIH

(C) AmITh Fderor (D) UId AT

Effective decision making depends on -

(A) Leaders (B) Members

(C) Both Leaders & Members (D) Interactions between the two
guTdl forg—famior iR wrar € —

(A) T W (B) Wi R

(C) =IdT Ud ¥ew, TFl W (D) THl & Heg ofa: fohar W
[ often get angry when people -

(A) Do not agree with me (B) Talk about their own interest
(C) Blame some innocent (D) Quarrel with each other

Hel AR 1Y ATl &, Sd AT —

(A) R 971d T8 A 2 | (B) 2+ w@rf &l 91 & & |
(C) fordt fety @1 Ty 20 &) (D) 39 ¥ TSI B 2 |
How to improve Education?

(A) By administrative reform (B) By changing the method of examination

(C) By spending more money on education (D) By recruiting best teachers

Rrem # YR e yeR dva 87

(A) YRS GIR §RT (B) uXlenm ugfa § uRdd+ e
(C) 3 R e 991 I FRb (D) & fRrerei @ Fgfaa axe
If the students do not understand the text the teacher should -

(A) Explain again (B) Start next lesson

(C) Talk to Principal (D) Ask questions

BTA BT UG FHH H Tl 3+ WX ATUS Bl ey fb —

(A) TERT AHSIRA (B) 3Tl UI3 YO R il

(C) uramd | a1d BT (D) U gBI

What should teachers do to get rid of theft habit in students -

(A) Explain ill effects (B) Explain with example

(C) Give punishment (D) Scold

BE § AN B MMEd oM @ o warud S a1 HRAl d1fed?

(A) gERum qar =nfed (B) ST <dhx AHSHT ATed
(C) oIl <A1 A1y (D) TSl S

Selection of subject requires -

(A) Scholarship (B) Educational guidance

(C) Professional guidance (D) Choice of students

fawat & @e @ ford smavys & —

(A) fagar o (B) & fdem o

(C) =g AdeE & (D) BET P STHT P
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125. The teacher gets good information about the events of Country and abroad -

(A) From history books (B) From Newspapers
(C) From radio news (D) From world tour
AU Pl oI — AT B T B I BRI U Bl & —
(A) sfer &1 gl | (B) HHER—U3T
(C) feai wER | (D) fawa w1 |

126. While teaching in the class, the teachers should —

(A) Seek active cooperation of the students. (B) Keep the students as passive listeners.
(C) Do not pay any attention to the students. (D) Remove the difficulties of the students.
HeT | el Ay, fRetdl or @fer —
(A) BET & Alh FEART & T4 1| (B) BEI &I [MSHT saRi & ®9 # 9 |
(C) BTET WR BIE &9 7 ¢ | (D) B & BfSATSAl DI G PN |

127. To motivate students in the class, the teachers should —
(A) always praise their students.
(B) always criticize their students.
(C) judiciously use praise and criticism.
(D) give such comments which neither indicate praise nor criticism.

werm W BTl B URT A & o, Rierp! 1 =2y —
(A) THI AUA BTEI B AREAT BN |
(B) BHIM 3194 BT HI SMAra=T BN |
(C) a9 & werar SR AT BT SYART BN |
(D) U fewforat < o 9 &1 WxIEHT iR 7 B ameleHg g &Y |
128. During teaching in the class if a student asks question, the teachers should —
(A) give correct answer immediately to him.
(B) ask the student to come after period for the answer.
(C) scold him and tell him not to disturb the teaching.
(D) not pay any attention and continue his teaching .

HeT H g™ & GR UH BTF U gudr 2, R a1 arfky —
(A) Y dhldl Hel 9ad © |
(B) BT &I SR @ folU HIa0isr & 91 9 & oI &g |
(C) Y Sic 3R SU Hr BRI § arr S 7 B |
(D) ®Is &I 7 < 37X 319+ Befor o SR ¥ |
129. The basic responsibility of teacher in the class is —
(A) to promote learning in the class.
(B) to extract school’s fee from the students.
(C) to arrange the records of the students of the class.
(D) to give extra importance to the students having tuition.
HET 7 s B g [NEeN € —
(A) HeT H IffeRTH HI g T |
(B) ©EI 9 faare™ b TG |
(C) ®el & B & Rare Bl AdRT HRAT |
(D) TIYIE dTel BTAI B AfeH AT QAT
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130.

131.

132.

133.

A class teacher is expected to behave with his students —

(A) more loving with intelligent students.

(B) reluctance towards poor students.

(C) equal behaviour with all the students.

(D) behaviour according to the expectations of the students.
Ud el fR1eTeh Bl U BTAI & A FIER HR DI I & —
(A) Ifgu BE & G S IR |

(B) I BIET & Wit 31 Ta |

(C) |91 BTEl & AT FHN FdeR |

(D) BTFE & SHIEl & AJAR UdeR |

The teacher is considered to be the guide, because —

(A) he has unfathomable capacities to build the future society.
(B) he is a symbol of social belief.

(C) he is a guard to the society.

(D) he is indulged in giving shapes to frustrations.

Rier &1 Arf <eid AT ST ®, Rife —

(A) S 9fdsy & TareT & T BT e & € |

(B) a8 WMIfod favard &7 Udid & |

(C) 8 WA & foIQ Uep Rgaret € |

(D) 9 BRI & MMHR < # foret 2|

Teaching should be mainly done by —

(A) Skilled and trained teachers (B) Untrained persons

(C) Experienced teachers (D) Young talented persons
Rreror g&g w9 9 .............. ERT AT ST AR |

(A) HIS AR grrfera Rerapi (B) s afdaat

(C) 3rgvdT Rerapi (D) gar ufcrTeITell efdaa

To inculcate human virtues among students as a teacher —

(A) you will not do anything wrong so as not to send wrong message to the children.
(B) you will reflect all those virtues, which you wish to imbibe.

(C) you will continuously tell them and make them understand.

(D) you will bring change in the children to suit the present context.

T Rieds & wu § uEl #§ AMa—oil B ek e @ forg —

(A) 3T BB I TeAd T8l BT qlfch g2 DI Tead |ael A1 9 |

(B) 39 391 9 Ui 1 ufafdfdd &, R 8mu snerd dRam ArEd # |

(C) 3T S8 TR S 3R S8 FHSMU |

(D) 379 gA Ha¥ @ 3wy dedi H 9ol g |
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134.

135.

136.

137.

The monitor of the class should be —
(A) The most popular student of the class. (B) The loving student of the teacher.
(C) The most powerful student of the class. (D) The extrovert student of the class.

BT BT H-Iex BHT AT —

(A) BT BT T Arpig faemedt | (B) f3erd @1 =R fammedi |
(C) e BT Fad rfdaemen faemeff | (D) er T afRHEr faemeft |
Teacher can develop moral values in students, because —

(A) Teacher has ability to motivate students.
(B) Teacher is role model for students.

(C) Students have fear for teacher.

(D) Students follow every instruction of teacher.

e BEl # Afde gt & Aafid = aaa 8, w=aife —
(A) e # faenfeiar &1 uRa & @ gwar g |

(B) forere faenfofai & forg amest &1

(C) fIenffai # R & ufty w1 g €

(D) faemeft Rrre & e Moy &1 9o axd 2|

Suppose a gifted student is sitting in the class and gives quick answers to all your questions.
What would you do with regard to your student?

(A) you will ask comparatively difficult questions and persuade him not to become
impatient.

(B) you think that he must give all the answers quickly so you can feel a sign of relief from
your responsibilities.

(C) you will tell him that this is an unhealthy behaviour in the class.

(D) you will ask difficult questions to answer so as to make him realise him that you are
among one of the best teachers.

HE NS 3! e § Ueh FicraTeiel] BT 481 € 3R 379 qH1 93l & @R ST

AT B | 3T U B & Hael H /T 57

(A) MY JeTHS Y BT U Y87 3R I R 7 8F @ forg A7gT |

(B) gwﬂgﬁﬁ%%wgﬁaﬂﬁwééﬁaﬁqmmm%ﬁﬁégﬁ

I

(C) M9 S FHE 5 e H R BT SUYI IER ¢ |

(D) U faemef ¥ e Sifee uea g8 199 S¥ I8 U9 &1 {6 19 |ew 3res
fRrerei 4 4 v 2 |

This is believed that female teachers are more suitable for primary level teaching because —

(A) They work patiently and affectionately with children.
(B) They have less opportunity for other professions.

(C) They agree to work on low salary.

(D) There is no need of high qualification for this profession.

g8 A A1 & b Afeer Rietd gifie wR o R & oy «ifte Suyged &, wife —
(A) ¥ 9% B A1 SRIYdd IR UR q B9 Hxa & |

(B) S9® U < HIATl & U B aWR B |

(C) ¥ $H I+ UX HM B D [oI¢ HeAd Bia) & |

(D) 39 U9 & foIU Soa IFAAT B His MMALIHAT 8l ¢ |
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138. When you instruct a person to close the door and he strictly follows the instruction, then it
can be concluded that —
(A) You have given an effective instruction.
(B) The message has been received by the receiver.
(C) The message has been well explained by you.
(D) The receiver is ready to accept your order.

STg 3y ff wfag &1 gRareT d€ dA &1 Aoy 30 € @R 98 ders 9 Ady &1 ureH
Al & a1 I8 [ApY Fdrar S adbar g fb —

(A) 3 TP wHEl H<er fear 2|

(B) wce UTél gRI urd faar wam 2 |

(C) MU e Hell Hifty wse faar 2|

(D) TTET MG MY BT WHR H B ol IR B |

139. Communication in classroom depends on —

(A) Teacher’s ability to explain (B) Difficulty level of Subject
(C) Student’s ability (D) Class —room interaction
Pl Hel H IR R FRar & —

(A) RreTd &) W HRA B AT R (B) fawa &1 wfeE R )
(C) faemfefar &1 Iraar =R (D) e fafrar

140. A teacher should —
(A) Earn money as much as he can.
(B) Make efforts for educational upliftment of students.
(C) Work for students benefits.
(D) Take care of students.
UF RUEd BT HRAT AR —
(A) SIS A H & HHT |
(B) ®BHEI & Wi I & foly v |
(C) B & fod & PRI |
(D) BHEI & ST |
141. The reason of highest rate of dropouts in rural areas is —
(A) Irrelevant curriculum
(B) Poverty
(C) Eagerness for quick employment
(D) Inappropriate interpersonal relations with teachers
T &7 H fAETery Bied drcli @1 9aiftid g% &1 BRI & —
(A) RIS UGaHH (B) TN
(C) @Rd ISR & forg Sgadn (D) fRrerpl & |rI SUYaT IRERS Hee
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142.

143.

144.

145.

How can a teacher establish warm relationship with his students?
(A) Always laughing with them.

(B) By making suitable distances.

(C) By hearing their difficulties and resolving them.

(D) By making students his friends.

T Rietd o BTAT 9 MR Aey 9 uSR wnfid & addar 27
(A) S99 Fad &1 AGd PP |

(B) S 3fd g a1 |

(C) SD!I FHRRAT DI Y- & qTE b1 [ HYe |

(D) BT &I JAUAT 73 I |

If some poor students want to study in extra time from you, then you —
(A) Ask them to take tuition.

(B) Keep them off.

(C) From time to time meet their difficulties as needed.

(D) Send them to another teacher.

I wo e B oMo sifaRed |9a 9 geTT amed €, af o —
(A) B TIIE o & g He |

(B) S Trad & |

(C) NMILTIHAT ATAR T THY TR SAD! HISASAT P GRT B |
(D) S foudt o=y et & urg 9ol |

During the educational journey, a student fights with an old man about the place of seating,
then, what will you do?

(A) will take the side of the student. (B) will explain him to respect elders.

(C) will ignore it (D) will interfere to resolve

3Mf&s AT & AR 93+ DI S8 Pl b Ud BT [Bdl g ¥ NS dodl ©, al H —
(A) BT & UeT < | (B) S HHSSHIT b =1 &1 MR BN
(C) T el BT | (D) fuer & fay <@ |

It is necessary to give details of the student’s progress to the parents so that —
(A) Parents can know the progress of their children.

(B) This gives proper guidance for parents to organize tuition.
(C) This keeps children in fear.
(D) Children can not give wrong information to their parents.

BIAT B YT BT RT AR BT AT ATID & —

(A) U9 IAMWYGe U= bl B G S G € |

(B) SHY 3IfWIad & TgIM oM @l Ifrd darre e 21
(C) SUY §=ai § X 9T <& 2 |

(D) g=d II9TGDh] BT Teld STFHNT 8] & T |
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146. If you are evaluating, then you will —
(A) provide marks according to the work.
(B) give more marks to those who study tuition from you.
(C) give rich students more marks.
(D) give more marks to weak students.

Ife 39 qeidH H I §, a5 3T —
(A) B B JFTAR Bl b Y& N |
(B) S 3fde b < ST MU Y UG B |
(C) 3R BTH &I ARF 3fH < |
(D) fws BEl & Af¥F e |
147. A teacher should use audio visual material, because —
(A) Student’s interest is created in the lesson.
(B) The focus of student’s attention remains in learning.
(C) It helps in realizing knowledge and diversification of text.
(D) All of the above.
U D Bl §I—5g FHUT DT YAN B[ =M, Riifd —
(A) BTHT @I U8 # B W& 2 |
(B) BTEI &1 &9 UglE H dfvad &l & |
(C) I &I aRda® WY YSE &= 9 U168 § fAfderar o= § 98is 8l © |

(D) SURIad T |
148. Class—room communication should be —
(A) Teacher—Centered (B) General-Focus
(C) Learner—Centered (D) Test book—Centered
FAT—HeT TRIYUT BT AT —
(A) e sfsa (B) WM dfvad
(C) B dfad (D) URIYKID Biad

149. While using ICT with teaching in class —
(A) No teacher will be required
(B) More work load will be there for the teacher
(C) Teacher’s role will be as a facilitator
(D) Teacher’s role will be central
Her freror # ICT Ygad ded aHd —
(A) 3P B JTaIHT Tl &l |
(B) 3eUUh &b U HRIMR 31fde 8 S |
(C) 3D P YHABT 9IS & w9 H =] |
(D) IS &I HBT d1g & g |
150. The status of teachers in the society should be high because they -
(A) Do great mental work (B) Meet people of the society
(C) Prepare future citizens (D) Do more labour.
ISt H Riefdl BT ¥R a1 81 A1y, wifd 9 —
(A) ITTerd FHFRIS B R ¢ | (B) ATl & N & fierd |
(C) 1Y ATTR®I BT JIR B & | (D) 3P | B 2 |
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151.

152,

153.

154.
155.

156.

157.

Part-D
Language Proficiency-English

Direction : (Q.151) Choose the option that is correct-

The teacher was too angry that she left the classroom-

(A) The teacher was very angry that she leave the classroom.

(B) The teacher was so angry that she left the classroom.

(C) The teacher was too angry and she had left the classroom.

(D) The teacher was too angry but she leave the classroom.

Direction : (Q.152) Choose the option with the word that is closest in meaning-

Abandon-

(A) Try (B) Join (C) Forsake (D) Adopt
Direction : (Q.153) Choose the option with word opposite in meaning-
Entangle-

(A) Twist (B) Untwist (C) Hook (D) Impede
Direction : (Q.154) Choose the correctly spelt word-

(A) Abbreviate (B) Abreviate (C) Abrreviate (D) Abriviat

Person who loves books and reading -
(A) Philologist (B) Bibliophile (C) Misogynist (D) Misologist

Directions : (Q.156-159) Read the given passage and answer the questions that follow-

At this stage of civilisation, when many nations are brought in to close and vital contact for
good and evil, it is essential, as never before, that their gross ignorance of one another
should be diminished, that they should begin to understand a little of one another’s historical
experience and resulting mentality. It is the fault of the English to expect the people of other
countries to react as they do, to political and international situations. Our genuine goodwill
and good intentions are often brought to nothing, because we expect other people to like us.
This would be corrected if we know history, not necessarily in detail but in broad outlines, of

the social and political conditions which have given to each nation its present character.

Mentality of a nation, according to the author, is a productof ................

(A) Present character (B) Politics (C) History (D) Geography

The character of a nation is the result of its-
(A) Ignorance (B) Cultural heritage
(C) Socio political conditions (D) Mentality
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158.

159.

160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

The need for a greater understanding between nations-

(A) is more today than ever before (B) was more there in the past
(C) is no longer there (D) has never been there
‘Genuine’ in the passage means -

(A) Historical (B) Political (C) Real (D) Fake

Directions : (Q.160 - 162) Choose the correct alternative -

............... car must be insured.

(A) A (B) An (C) The (D) All
Everyone expected the same team ...............

(A) towin (B) was winning (C) won (D) will win
It took longer ......covvvvvvviinennnnns [ expected.

(A) though (B) but (C) than (D) then

Directions: (Q. 163 —-164) Change the following sentences as directed in the brackets-
Only a coward would say so. (Transform into Negative)-

(A) Noteven a coward would say so (B) None but a coward would say so
(C) A coward would only not say so (D) No coward would say so
Mohini is more beautiful than Mitali. (Use positive degree)-

(A) Mohini is not so beautiful as Mitali. (B) Mohini is rather beautiful than Mitali.
(C) Mitali is not as beautiful as Mohini. (D) Mitali is as beautiful as Mohini.
Directions: (Q.165) Choose the correct Tense-

| R the stadium long before the match.
(A) reach (B) was reaching
(C) had reached (D) had been reaching

Directions: (Q.166) Change the Direct narration to Indirect narration-
She said to me, “What are you doing?”
(A) She asked me what was I doing (B) She asked me what am I doing

(C) She asked me what I was doing (D) She asked me what were you doing
Directions: (Q.167) Choose the correctly spelt word-
(A) Dicease (B) Disease (C) Desease (D) Diseese

Directions: Find one word for the group of words given below-
A person with long experience of any occupation-

(A) Veteran (B) Wizard (C) Genius (D) Expert
Directions: Choose the correct Synonym of ‘Eradicate’

(A) Emerge (B) Uplift (C) Remove (D) Increase
Directions: Give the correct Antonym of ‘Compassion’-

(A) Anxiety (B) Hatred (C) Connection (D) Conducive
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HANT—§
HTST AT - fa—ar

171. IoT Gy B T arer fAdeq —

(A) oag (B) YA (C) Tarsm (D) wEleT
172. fm=feRad § @ orar WY o wd 72 8-

(A) T + A% (B) IYM+3md  (C) fa+uH D) &+ =3
173. ‘SISE=' e &1 Aol 999 faug 8-

(A) ®reT & forw &= (B) HIST &1 &3

(C) wreT 3R &= (D) TSl 3R &3 &1 T e
174. HHIRYT FHRT BT <904 dTen fAdbed 2—

(A) “redHe (B) s (C) SR (D) HHSIGTE!
175. ‘<9, 819 3R 31919’ BT S Il SUaT 28—

(A) U (B) 3@ (C) wfa (D) arfey
176. fash wrer & SRET | g7 I8 B—

(A) THR (B) WRUT (C) 3T (D) BRI
177. vraarasd dfgd 99T 9 g9 35 BT T arerl fdded g—

(A) UFER (B) g=ar (C) arferHr (D) dPSERT
178. ‘a1 &1 g9 are e A8} o—

(A) S (B) = (C) Hug (D) ITdg
179. SIET W& FE ‘BAG BT GIFarEl o—

(A) 3™, ISP, aferdt (B) faRra, sy, smerm]

(C) 3rafsy, efioft, Af= (D) Hferd, aRd, IIdge
180. faure veg &1 fauianeie e 8-

(A) 93 (B) @R (C) JATEeTe (D) wdfa

181. D= fAdhey fAd™ wresl &I 78] geiar 8—
(A) gE—fagag  (B) IR"—afesr  (C) Ham—garm (D)  E—favm
182. ‘RR—AR’ w8 i &1 31ef BIm 8—

(A) WRTPIDT—THSI (B) 9g8d 9HY do— I
(C) AHE—HED (D) Yg— Brdl
183. ST&T T, YT 98! 8, 98 <% JUSS © | a1 o—

(A) IERY 9@ (B) Agad e (C) fAst ara (D) feraras areR
184. f/=1 # 9 fvw fawey & @it o g8 28—

(A) UTd:PTe, I (B) T, ity
(C) fagH, sirch (D) arcHIfd, SHIE
185. 3TYE aTF B—
(A) g&T WR BHrar drel Y& R | (B) ST Ud gfgAM arferat 2 |
(C) & W BTl g | (D) HAE ITADBard] ART T |
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186.

187.

188.

189.

190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

el a%q @1 U B IHT AT DI G Tl HETaRT 2—

(A) il 7 T (B) SifE IR BMT

(C) SifEl # T Ia=AT (D) &I Far

“HIRI—BIT TR FGA U, TR BT R e | TBE IS FBTS B T BRI
g7

(A) afq (B) TSI (C) dretr (D) forfa

1 # argg omeRe @ve -

(A) F+9=8& B) q+I=F (C) T+I=9 (D) Y+3I=4
TGN BT IYE T B—

(A) &-39 (B) SSHI-IFSIAT (C) Yef-gelr@el (D) &fe—gy

"I SR DI & | 9 H Bl WG o

(A) M bl (B) 3= Jddrad (C) Yol ddTel (D) AT acd= it

=1 & Yraarase s T8l a—

(A) TEIT (B) R (C) 9% (D) U&HAl

e A1 g ® difs ST wforarh when § @9+ & W | ¥@ifdhd ug g
(A) e 9iEd Y (B) Te¥g dIEH ATRIBRV A=Y A
(C) FHAIRIGRYT Wy ded (D) fura

% Sl o W8 B | At a9’ YAt g—

(A) Udadad (B) 9gda-

C) Udgdd & W R gga (D) 9gFET & WM W Yhdad
Seee gy 9 fAffa e 98 28—

(A) oIRger (B) ueifiHA (C) 98 (D) HIE™

1 # oE waRErdl 9 B

(A) Tfer, Io=0, arfer (B) 3, Uiy, e

(C) gy, femry, wremie (D) =R, R, ST

=1 7 srge faudarft @ -

(A) vef—uforoer (B) 3MRasp—-Ra® (C) Wi—-Red (D) AIHT—ITHIERI
gad, ¥ faem, s, 9, g1 fow sl & sref B—

A) fIR (B) T (C) WY (D) 9RT
Y€ AR dd U el o

(A) S Sfidr 51 S 9@ : 3foiy (B) 3119 § I drell : W
(C) e foram gorm : <o (D) i FRT gar &1« ufod
A BN FT 7’ RiEE HETaRT o

(A) 37Fa BT G (B) ¥de UR YR Tl
(C) 3add & =S SIS (D) 3Taa BT Glall

“dHag FRIAY 8- 7 B | Alpliaa BT a1 28—
(A) =T &) FAFar o w9 8 o 7 | (B) T AU grEAl Hel Bied |
(C) T & AR qRT JIER HAT | (D) ®IY AR & |F SFTE 9 9 @ |
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171.

172.

173.

174.

175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

185.

186.

HMT—<a

HINT Il : AEHhd
YHRE SRV RITHART—
(A) i (B) e (C) =
f:r_vﬁﬁf qof: 37fRg—
(A) ddR: (B) dor: (C) SPR:
“gred: fharamy ... dem: v Raa: I vafa—
(A) oTg; (B) Suwt (C) fomm
H¥h SUHIT: Bicr?
(A) I (B) <garfderfe: (C) UpMHfGrfer:
I SARET U vpfaudn: AT —
(A) 3T+ Iq (B) &+ Iq (C) &+ 3Iq
(A) g (B) e (C) 3=y
T gARE Uq Ypfyeddn: -
(A) ¢ + 7q (B) eT+ g () =R + vag
(A) @H: (B) WRIGTH (C) SUTETH
areHIffaeRfdaféiad sRe &1 A6 wd?
(A) 3MUIGHH (B) WRIGFH (C) ®H
GeTgal & Y
(A) HHIRY (B) 3redmrE: (C) dgzy
gfggTy ga gHrafdure g3 fhe?
(A) qa<d fr (B) fomer (C) =Eifrea
TRyl faeI=ior 98 YA SIERVMRG—
(A) HTIIH: (B) BIoW: (C) AreAicqerd
ey g4’ 3 &1 |3 yawia?
A) fa (B) &rT: (C) WEaH
ECI RS £a 1o BRe =4 e R e cx ) S ) B | = 2
(A) & (B) @ (C) faut:
UMy IR YAURARD] BT AL RITq—
(A) dggfer (B) wEdq © T
R’ sufRa SR Af-fawms: &2

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(A) f3r@ar + s=:  (B) fércm + 3= (C) B + 3= (D)
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187.

188.

189.

190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

‘H urar: fafRfrsarw STges gfaaes v wfasafa—

(A) T (B) ™ (©) HIH (D) i

g’ sfa U argarered arfd—

(A) ¥l + dCadR (B) ¥l + geadr (C) 1 + dsaar (D) 9 + faffosaer

IH Y T Ay waiRa—

(A) M (B) MY (C) T (D)  XTHOTH
1y argrg arRmRa—

(A) STEIARIE: (B) fogws: werm

(C) SURIMT Il (D) BT MUTS: ISTH:
HRBITOT HIfT—

(A) U= (B) ©< (C) ¥« (D) 31

e faurgd g -

(A) MR FEa1(B) BAISTORI WA (C) Fae = yaq (D) WR: AfThY: Aigar:
TEAIE THRIY T SAeTor S7Ra—

(A) STRUSRIUY: (B) JAUGRIUE: (C) STIUSRUER: (D) SYIUGTRiu:
‘forer” geag: wafd—

(A) ¥AG—RTTY (B) dG—d1daq (C) Fa—cuy (D) g4

TR TARAT U URfuar: IRT—

(A) [+ AR (B) T+ 3 ©) s +9q (D) G + =]
frey ey ge—arr ofd-

(A) BT BrENSPSTI (B) BT PHIRENSHSTR

(C) MR BTSSRI (D) HHEI HIEISHSIT

grad:’ 3 Uew Afufdwe: sifa—

(A) T + I (B) Ul + 3% (C) W+ 3md: (D) Ul +

qIidd®R: F:7

(A) grfor= (B) udsIfer (C) HamT (D) TRERT

IR YIT: wfafae: |f+d?

(A) ffaer (B) dgfder (C) uafder (D) wSfaer:

Hervea agfi—agaer wu wfawf—?

(A) HeTITH (B) WelRr: (C) W™ (D) oA
P
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